363-364-365 Aluminum Folding Screen Parts List

1 {f_:__. ——— \ 2
A
N
: o C
G —
}
D E

PARTS LIST

1 216600 363 SCREEN FRAME ASSEMBLED 1

1 216610 364 SCREEN FRAME ASSEMBLED 1

1 216620 365 SCREEN FRAME ASSEMBLED 1

2 211500 LEG SET 363 COMPLETE W/HARDWARE 1

2 211510 LEG SET 364 COMPLETE W/HARDWARE 1

2 211520 LEG SET 365 COMPLETE W/HARDWARE 1

2A A,C 216630 MID LEG (363,364,365) SEE NOTES
2B C 566512 SCREW-MACH 10-24 X1 PAN PHILLIP M/S ZINC | 1 per 2 legs
2B C 566203 NUT-10-24 HEX NYLON LOCK NUT ZINC 1 per 2 legs
2C B,C 216635 WING LEG (363,364,365) SEE NOTES
2D C 566516 SCREW-MACH 10-24 X2 PAN PHILLIP M/S ZINC | 1 per 2 legs
2D C 566203 NUT-10-24 HEX NYLON LOCK NUT ZINC 1 per 2 legs
2E C 700800 PLASTIC ENDCAP 3/4" WHITE 1 per leg
A Qty (2) for 363 model & Qty (4) for 364-365 models

B Qty (4) for 363-364 models & Qty (6) for 365 model

C Included in the abowe listed "LEG SETS"




363-364-365 Aluminum Folding Screen Parts List

PARTS LIST
Image QTY per
Number Note  Part Number Description Product
1A A 299900 363,364,365 VINYL PANEL STANDARD WHITE SEE NOTES
1A A,B 2999XX 363,364,365 SURE CHEK PANEL SEE NOTES
1B C 216625 SCREEN ROD (363, 364, 365) SEE NOTES
704500 ROD & ROD SPRING RETAINER(SET) SEE NOTES
NOTES
Description
363= (3) Panels, 364= (4) Panels, 365= (5) Panels
B XX- For SURECHEK use color code for specific part number i.e. 93 - Mint (299993)
C Qty. (2) per panel




